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Question Number : 1 Question Id : 3475354002 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘When did Mahatma Gandhi return to India from South Africa and organise numerous movements against the British rule?

Options:

1w January 1915

~ w February 1905

5 % March 1920



4 w April 1910

= » May 1900

Question Number : 1 Question Id : 3475354002 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

| v AT 1915

5 % AT 1920

4 » FHE 1910

- « #S 1900

Question Number : 2 Question Id : 3475354003 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 2 Wrong: O
After Independence. who became the first Deputy PM of India?

Options:
1 « Sardar Vallabhbhai Patel

- % Maulana Abul Kalam Azad
= % Ram Manohar Lohia
4 % Pandit Balakrishna Sharma

= » Jatindra Mohan Sengupta

Question Number : 2 Question Id : 3475354003 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 3 Question Id : 3475354004 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0

At the age of 80, who led a group of soldiers against the British in Bihar, using guerrilla warfare tactics?
Options:

, « Kunwar Singh

-~ % Jagjivan Ram
- % ShriKrishna Singh
, % Jayprakash Narayan

= » Bidhan Chandra Roy

Question Number : 3 Question Id : 3475354004 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 4 Question Id : 3475354005 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
On 23 March, 1858, Rani Lakshmi Bai defended her palace and the entire city of Jhansi from being captured by British
troops led by:

Options:
, « Sir Hugh Rose

- % Alexander Skene

- % Sir Stafford Cripps

4 % Lord Pethick Lawrence

5 % Robert Clive

Question Number : 4 Question Id : 3475354005 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 5 Question Id : 3475354006 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
In the train robbery of Kakori on August 9, 1925, the raiders belonged to which of the following parties?
Options:

, « Hindustan Republican Association

- u Hindustan Republican Party

- % Republican Party of Hindustan



4 % Republican Party

= u Hindustan Association Republic

Question Number : 5 Question Id : 3475354006 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0

9 3T 1925 & FHRT H T & Sohell H UTeT el arel foAfai@d # & foh ool & wafod 972
Options:

| » TegEae Refed®a THITHC
fégrare Rufesere arét
frafeesra 1ét 3o Rgra=
, % Rfesreer dTef

fEgra= e Rufess

Question Number : 6 Question Id : 3475354007 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who is also known as the ‘Father of Revolutionary Thoughts™?

Options:
, + Bipin Chandra Pal

- % Aurobindo Ghosh
- % Rabindranath Tagore
4 % Ashutosh Mukerjee

 # Keshab Chandra Sen

Question Number : 6 Question Id : 3475354007 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
8 “Fiiae! =R FT S & Far T 82

Options:



1 v Tfe = o
o % IR oY

- x TEegaATT &R
sy

F T B

n
#

Question Number : 7 Question Id : 3475354008 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Who was the captain of the Rani of Jhansi Regiment which was the Women's Regiment of the Indian National Army?

Options:

, « Lakshmi Sahgal

- % Rani Gaidinliu
- » Nellie Sengupta

4 % Sucheta Kriplani

= % Rajkumari Amrit Kaur

Question Number : 7 Question Id : 3475354008 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 8 Question Id : 3475354009 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who laid the foundation stone of Jamia Millia Islamia at Aligarh on Friday, 29 October, 19207

Options:
1« Maulana Mehmud Hasan
-~ # Abbas Tyabiji

Abdul Majeed Khwaja

A
u

4 % Dr. Mukhtar Ahmad Ansari

% Maulana Mohammad Ali Johar

Question Number : 8 Question Id : 3475354009 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 2 Wrong: O
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Question Number : 9 Question Id : 3475354010 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Who has been popularly known as Deshbandhu in the Indian National Movement?

Options:

, « Chittaranjan Das

-~ » Nellie Sengupta

= % 5.C.Bose



, » Bankim Chandra Chatterjee

= % Satyendra Nath Bose

Question Number : 9 Question Id : 3475354010 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 10 Question Id : 3475354011 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
Who led the Santhal Rebellion of 1855 and took the British by surprise?

Options:
1« Sidhu Murmu and Kanhu Murmu

- % DBirsa Munda

- % TanaBhagat
4 = Surga Munda

Ganga Narayan

Question Number : 10 Question Id : 3475354011 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 11 Question Id : 3475354012 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who is known for turning youngsters into firebrand revolutionaries and seizing the weapons of police forces from the
Chittagong armoury of Brifish India in 19307

Options:

1w Surya Sen

- % Hemchandra Ghosh
= % Subhas Chandra Bose
4 % Lokenath Bal

c % Jibon Ghoshal

Question Number : 11 Question Id : 3475354012 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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Question Number : 12 Question Id : 3475354013 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Who founded and published a newspaper called *The Bengalee’?

Options:

,  Surendranath Banerjee

-~ % Chapala Kanta Bhattacharya
- w Atulay Ghosh

4 % Aurobindo Ghose

% Keshab Chandra Sen

Question Number : 12 Question Id : 3475354013 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 13 Question Id : 3475354014 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

In which of the following states did the Rampa Rebellion of 1922, a tribal uprising led by Alluri Sitarama Raju, took place
against the British government?

Options:

1 +« Andhra Pradesh

- % Karnataka



4 % Kerala

s % Maharashtra

Question Number : 13 Question Id : 3475354014 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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Question Number : 14 Question Id : 3475354015 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who is the writer of the book titled ‘The Indian War of Independence’?

Options:

1 Vinayak Damodar Savarkar

> % Prafulla Kumar Sarkar
= # C.R. Das
4 % Keshab Chandra Sen

= % Chapala Kanta Bhattacharya

Question Number : 14 Question Id : 3475354015 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 15 Question Id : 3475354016 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
When did the Hindu Widows’ Remarriage Act come into force?

Options:

1 « 1856
> % 1818
= % 1820

4 % 1807

= % 1919

Question Number : 15 Question Id : 3475354016 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

.~ 1856

, % 1818

2 % 1820

. % 1807

c = 1919

Question Number : 16 Question Id : 3475354017 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0



Who is the present chairman of Rajya Sabha?
Options:

1 « Venkaiah Naidu

> # Arun Jaitley

- % Sushma Swaraj

4 % J.P.Nadda

= % Sumitra Mahajan

Question Number : 16 Question Id : 3475354017 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 17 Question Id : 3475354018 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

Article 370 of the India Constitution relates to:

Options:

| « temporary provisions with respect to the state of Jammu and Kashmir

- % criminalising homosexuality in India

= % uniform civil code

, = the representation of states in the Parliament



= % provisions regarding amendment of the Constitution

Question Number : 17 Question Id : 3475354018 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 18 Question Id : 3475354019 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Who is the Head of the Government in India?
Options:

1 « Prime Minister

- % President

- % Speaker of Lok Sabha

Speaker of Rajva Sabha

o
u

= % Leader of Opposition

Question Number : 18 Question Id : 3475354019 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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Question Number : 19 Question Id : 3475354020 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Article of the Constitution of India relates to provisions for proclaiming emergency by the President of India.

Options:
| oF 52

oo® 27T

Question Number : 19 Question Id : 3475354020 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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> % 277
2 % B5
4 % 712

¢ = 370

Question Number : 20 Question Id : 3475354021 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

Article of the Constitution is related to special address by the President of India.
Options:

1 &7



Question Number : 20 Question Id : 3475354021 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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, % 84
o @ B8
. % 86
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Question Number : 21 Question Id : 3475354022 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What is the number of languages that are currently listed in the eighth schedule of the Constitution of India?

Options:
1 & 22

o W 15

Question Number : 21 Question Id : 3475354022 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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1 & 22
> % 15
z % 18
4 % 25

c #® 20

Question Number : 22 Question Id : 3475354023 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
With reference to the Constitutional provisions, which of the following statements about the Supreme Court is/are true?

1. Itis a court of record.
2. Tt is NOT the highest court of appeal in India.
3. It has the power to punish for contempt of itself.

Options:

, « Only statement 1 and 3 are correct.

-~ % Only statement 1 and 2 are correct.
5 % Only statement 2 and 3 are correct.

4 % All the statements are correct.

z % None of the statements is correct.

Question Number : 22 Question Id : 3475354023 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 23 Question Id : 3475354024 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Article of the Constitution states. “It shall be the duty of every citizen of India to abide by the Constitution and
respect its ideals and institutions, the National Flag and the National Anthem.”

Options:
1« S1A

= % 15A

Question Number : 23 Question Id : 3475354024 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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Options:
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Question Number : 24 Question Id : 3475354025 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

According to the Constitution, the executive power of the Union is vested in the:
Options:

1 « President of India



- % Prime Minister of India
- % Comptroller and Auditor General of India
4 % Chief Secretary of India

5 # Chief Justice of India

Question Number : 24 Question Id : 3475354025 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 25 Question Id : 3475354026 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What does Article 44 of the Constitution envisage for the citizens of India?

Options:

, « Uniform civil code for the citizens throughout the territory of India

-~ w Provision for free and compulsory education for all children

- » Raise the level of nutrition and the standard of living and to improve public health

4 w Provision for just and humane conditions of work and maternity relief

= % Equal justice and free legal aid

Question Number : 25 Question Id : 3475354026 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Question Number : 26 Question Id : 3475354027 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

‘When was the Indian Penal Code enacted?
Options:

1 « 1860

> % 1919

Question Number : 26 Question Id : 3475354027 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

AR &8 TigdT & a9] H 57
Options:
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c % 1857

Question Number : 27 Question Id : 3475354028 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

The primary function of is to serve as an important link between two Houses of Parliament and the Government to
efficiently handle the diverse parliamentary work on behalf of the Government of India in the Parliament.

Options:
, « the Ministry of Parliamentary Affairs

- % the Prime Minister
z % the President of India

4 = the Speaker of Lok Sabha

= u the Speaker of Rajya Sabha

Question Number : 27 Question Id : 3475354028 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Question Number : 28 Question Id : 3475354029 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What provision does the Constitution (One Hundred Twenty Second Amendment) Act. 2016. relate to?

Options:
, « Levying goods and services tax

-~ % Decriminalising homosexual relations in India



- % Criminalising homosexual relations in India

, % Prohibiting benami property

-
Increasing the maximum period of maternity leave from the existing period of 12 weeks to 26 weeks

Question Number : 28 Question Id : 3475354029 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 29 Question Id : 3475354030 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Which article accords the Right to minorities to establish and administer educational institutions?

Options:

1 « Article 30
- % Article 29
5 % Article 31A

4 % Article 15

s % Article 19

Question Number : 29 Question Id : 3475354030 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 30 Question Id : 3475354031 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

is the highest law-making body in India.
Options:
1 +« The Parliament

-~ % The Supreme Court
= % The Prime Minister’s Office
4 # The President

c % The Executive

Question Number : 30 Question Id : 3475354031 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 31 Question Id : 3475354032 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

‘Which statement about Zero Hour is NOT true?

Options:

, « Shortnotice questions are never taken up during the Zero Hour.

-
For raising matters during the Zero Hour. MPs give notice before 10 am to the Chairman on the day of the sitting.

- % Thenotice must state the subject they wish to raise in the House.

4 % The Chairman decides whether or not to allow the matter to be raised.

5.
It is usually used to raise matters that are urgent and cannot wait for the notice period required under other procedures.

Question Number : 31 Question Id : 3475354032 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 32 Question Id : 3475354033 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
A starred question is asked by an MP and answered orally by the:

Options:
|  Minister-in-charge

> % Prime Minister



- = Speaker of the House

, % Secretary of the concerned department

c % Any MP from the treasury benches

Question Number : 32 Question Id : 3475354033 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 33 Question Id : 3475354034 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
‘Which among the following rivers drains into the Arabian Sea?

Options:
1 « Narmada

o R Gandak
= # Yamuna
4 % Bhadra

c % Mahanadi

Question Number : 33 Question Id : 3475354034 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Question Number : 34 Question Id : 3475354035 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Which is the highest plateau of India?

Options:

, « Ladakh plateau

» % Meghalaya Plateau

= % Malwa Plateau

, = DBaghelkhand Plateau

= % Nagpur Plateau

Question Number : 34 Question Id : 3475354035 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Question Number : 35 Question Id : 3475354036 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Which of the following states is the largest producer of mica?

Options:
1 « Andhra Pradesh

- = Rajasthan
- % Chhattisgarh

4 % Karnataka

c % Jharkhand

Question Number : 35 Question Id : 3475354036 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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4 % FAREH

- % SRGE

Question Number : 36 Question Id : 3475354037 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
Kudremukh iron ore deposits are located in:

Options:
1 + Karnataka

> % Tlelangana

= % Andhra Pradesh

4, % Odisha



c % Jharkhand

Question Number : 36 Question Id : 3475354037 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 37 Question Id : 3475354038 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Bhakra Nangal Multipurpose River Project is built on which river?
Options:

|« Sutlej

> % DBeas
= % Mahanadi
4 % Narmada

% Jhelum

Question Number : 37 Question Id : 3475354038 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
ST AT T3y AT IRAISA 7 7T W = 32

Options:
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Question Number : 38 Question Id : 3475354039 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Which country is the largest producer of wheat as per data published by FAO for year 1994-20167

Options:
1 « China

> % USA
3 % Canada
4 % Russian Federation

c % India

Question Number : 38 Question Id : 3475354039 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 39 Question Id : 3475354040 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
According to the India State of Forest Report (ISFR) 2015, the total forest and tree cover of India is percent of its
total geographical area.

Options:



4 % 1843

= % 28.90

Question Number : 39 Question Id : 3475354040 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
IR 37 NANE (MB.TEF.AR.) 2015 &F AR, F I UF Ja&T HT=olied aiF Fo siianfors s we &

graera gl
Options:
| @ 24.16
o % 14.26
2 % 31.12
4 % 18.43

= % 28.90

Question Number : 40 Question Id : 3475354041 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
The mountain ranges separate the northern plains from the peninsular region.

Options:

, « Vindhya
Satpura
- » Sahyadri

, w DBalaghat

5 % Aravali

Question Number : 40 Question Id : 3475354041 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 41 Question Id : 3475354042 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Where is Bhitarkanika National Park located?
Options:

1 « Odisha

- % Andhra Pradesh
= % Assam
4 % lripura

= % lelangana

Question Number : 41 Question Id : 3475354042 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 42 Question Id : 3475354043 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Where 1s Kaas Valley. also known as ‘valley of flowers’, located?

Options:

| « Satara, Maharashtra

- » Pahalgam, Kashmir
- % lezpur. Asam
4 # Darjeeling. West Bengal

Shimla. Himachal Pradesh

Question Number : 42 Question Id : 3475354043 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 43 Question Id : 3475354044 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
Committee was set up with an aim to introduce necessary banking sector reforms in India.

Options:
1 +« Narasimham

> % Kelkar



= % Srikrishna
4 % Ashok Mehta

% Naresh Chandra

Question Number : 43 Question Id : 3475354044 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
wfafa # wrder o a7 7 gurt & e & 7 o

Options:
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Question Number : 44 Question Id : 3475354045 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
‘Which of the following committees was NOT appointed for poverty estimation?

Options:
, « Vijay Kelkar Committee

> % Y.K. Alagh Committee

= % Suresh Tendulkar Committee
4 % C.Rangarajan Committee

c # N.C. Saxena Committee

Question Number : 44 Question Id : 3475354045 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
fr=fofte & @ fw vfafa & e daar smees & Pw a8 & 75 9

Options:
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Question Number : 45 Question Id : 3475354046 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
The crops sown at the beginning of the first rains in July, during the south-west monsoons, are called:

Options:
, « Kharif crops

» % Rabicrops
- w Zaid crops
4 % Wwinter crops

= % Cash crops

Question Number : 45 Question Id : 3475354046 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

| v T% B

- = SOE HEA

4 % TFET HEA

s b
c % ohal P



Question Number : 46 Question Id : 3475354047 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
is a tropical and sub-tropical plant that thrives well in hot and humid climate and well-drained land. The ideal
temperature for its growth is 20 °C - 30 °C. Temperature above 35 °C and below 10 °C are harmful for it.

Options:
1 « Tea

> % Coffee
3 % Tobaco
4 % Rice

Sugarcane

Question Number : 46 Question Id : 3475354047 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 47 Question Id : 3475354048 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
India is the largest producer of:

Options:

|  Imangoes and buffalo milk

- % cow milk and cotton

= % o1l seeds and fish



4 % sugarcane and meat

= % poultry and coffee

Question Number : 47 Question Id : 3475354048 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 48 Question Id : 3475354049 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who presided over the First Health Ministers Roundtable on Food Safety & Nutrition on 9 January, 2018?

Options:
1 « ShriJ. P. Nadda

Rajnath Singh

ra
®

- % Sushma Swaraj
4 % Arun Jaitley

5 % Nitin Jairam Gadkari

Question Number : 48 Question Id : 3475354049 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 49 Question Id : 3475354050 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Where was the 3rd meeting of the Council of Trade Development and Promotion held on 8 January, 20187

Options:
1 « New Delhi

-~ % Vishakhapatnam
= % Kochi
4 % Trivandrum

c % Goa

Question Number : 49 Question Id : 3475354050 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 50 Question Id : 3475354051 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

The provisional figures of Direct Tax collections up to December, 2017, showed that net collections were at which
was 18.2% higher than the net collections for the corresponding period of the previous vear.

Options:
1 « < 6.56 lakh crore

> % < 2.56 lakh crore
z % < 4.56 lakh crore
4 % < 5.56 lakh crore

c % < 3.56 lakh crore

Question Number : 50 Question Id : 3475354051 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

| » % 6.56 @ T
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, » % 5.56 9@ FS

- » % 3.56 9@ WIT

Question Number : 51 Question Id : 3475354052 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
According to the bilateral annual Haj 2018 agreement signed between India and Saudi Arabia, how many Indians will go for
Haj in 2018?
Options:
=
|« 1.75.025
- % 136,020

2 % 5.07.840



4 % 2.30,030

= % 110,070

Question Number : 51 Question Id : 3475354052 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O

9N 3R T 3T F A ge Sfavely a1 g 2018 wHEla & @R, 2018 F faoe aRAT #F &
e FmeE?

Options:

. » 1,75,025
, % 1,36,020
. = 5,07,840
% 230,630

- = 1,10,070

Question Number : 52 Question Id : 3475354053 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who among the following has launched a new online vendor registration system in January 2018, in a bid to bring
transperancy in its operations?

Options:
| Ministry of Railways

-~ % Ministry of Corporate Affairs
- % Ministry of Finance
4 % Ministry of Shipping

= % Ministry of Tourism

Question Number : 52 Question Id : 3475354053 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 53 Question Id : 3475354054 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
Who among the following withdrew from Australian Open 2018 due to a custody battle over her young son?

Options:
1 « Victoria Azarenka

- % Ana Ivanovic
- % Maria Sharapova
4 % Petra Kvitova

= = Angelique Kerber

Question Number : 53 Question Id : 3475354054 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 54 Question Id : 3475354055 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Where was the fifth Ashes Test match, 2018, held in which Australia defeated England?

Options:

| « Sydney

- % Melbourne
- % DBrisbane

4 % Adelaide

% Canberra

Question Number : 54 Question Id : 3475354055 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 55 Question Id : 3475354056 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
Which country hosted the fifth edition of Blind Cricket World Cup. 20187

Options:
1 « Pakistan
-~ % India

5 % Australia

, w» England



= » DBangladesh

Question Number : 55 Question Id : 3475354056 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 56 Question Id : 3475354057 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Which city hosted the 18th All India Whips’ Conference?

Options:
.  Udaipur, Rajasthan

-~ % Jodhpur, Rajasthan
- % Indore. Madhya Pradesh

4 % Mumbai, Maharashtra

= % Pune, Maharashtra

Question Number : 56 Question Id : 3475354057 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 57 Question Id : 3475354058 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
has become the first Zonal Railway to procure drone cameras in Indian Railways.

Options:
.« West Central Railway

-~ % East Central Railway
- » North Central Railway
, # South Central Railway

= » North Frontier Railway

Question Number : 57 Question Id : 3475354058 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 58 Question Id : 3475354059 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Under the BharatNet project, the Government of India has successfully connected over Gram Panchayats (GP)
across the country with high speed optical fibre network as of the declared deadline of 31 December, 2017.



Options:
1 « One lakh

- % Fourlakh
% % Three lakh
4 % Two lakh

= » Fifty thousand

Question Number : 58 Question Id : 3475354059 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 59 Question Id : 3475354060 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
A study. led by researchers at Imperial College London in the UK, has discovered that gene mutations is the reason behind

Options:
o Obesity

1
» % Dback pain
= % tuberculosis

, % typhoid

c % diabetes



Question Number : 59 Question Id : 3475354060 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 60 Question Id : 3475354061 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

India, along with which other country showed its traditional handcrafis, technique and classical dance presentations at
Dastkari Haat at Delh Haat in New Delhi. in January 2018?

Options:
1 « Israel

- % Pakistan
%z % Bhutan
% Nepal

= » DBangladesh

Question Number : 60 Question Id : 3475354061 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 61 Question Id : 3475354062 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

Which Indian-American biochemist was recently honoured by Google with a doodle on his 96th birth anniversary
on 9™ January 2018?

Options:

1 « Har Gobind Khorana

- % 8. Chandrasekhar

% Rohinton Mistry
4 % Pan Nalin

c % Amar Bose

Question Number : 61 Question Id : 3475354062 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 62 Question Id : 3475354063 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What was the theme of the World Economic Forum (WEF) in Davos-Klosters, Switzerland on 23 January. 2018 attended by
PM Modi?



Options:
, « Creating a shared future in a fractured world

- % A shared future for shared economies

To strengthen the world economy

W
®

ECGI]DIII}’ Vs environment

o
0

Nature vs cConomy

Question Number : 62 Question Id : 3475354063 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 63 Question Id : 3475354064 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who won the Best Actress Aaward in a limited series or television movie at the 75th Golden Globes ceremony, 20187

Options:
Nicole Kidman, Big Little Lies

1.9
-~ » Reese Witherspoon, Big Little Lies

- % Jessica Lange. Feud: Bette and Joan

4 % Susan Sarandon. Feud: Bette and Joan



c % Jessica Biel, The Sinner

Question Number : 63 Question Id : 3475354064 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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Options:
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Question Number : 64 Question Id : 3475354065 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

‘Who has been named the French Coach of The Year 20172
Options:

1 « Zinedine Zidane

Arsene Wenger
- » Alme Jacquet

4 % Laurent Blanc

= w Didier Deschamps

Question Number : 64 Question Id : 3475354065 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 65 Question Id : 3475354066 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

What is another name for Base 27
Options:

, « Binary Number System

-~ % Decimal Number System
» Hexadecimal Number System

Octal Number System

o
#

= % Whole Number System

Question Number : 65 Question Id : 3475354066 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Question Number : 66 Question Id : 3475354067 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0



is a process whereby a computer receives information over the Internet.
Options:
1 « Download

» % Upload

3 % Transfer
4 % DParse

c % Extract

Question Number : 66 Question Id : 3475354067 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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Options:
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Question Number : 67 Question Id : 3475354068 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Someone who uses a computer and a network or internet connection to intrude into another computer or system to perform
an illegal act is called:

Options:

1 « Hacker
- % Terrorist
- % Spammer

« Programier

c % Executer



Question Number : 67 Question Id : 3475354068 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 68 Question Id : 3475354069 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘What is the shortcut key to run a QBasic program?

Options:
1 F5

- ® F6
ST ] F3

c ® F2

Question Number : 68 Question Id : 3475354069 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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c = F2

Question Number : 69 Question Id : 3475354070 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Which of the following is an input device?

Options:

. Image Scanner

> % Monitor
= % Printer
4 % Speaker

s % Laser Printer

Question Number : 69 Question Id : 3475354070 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 70 Question Id : 3475354071 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Select the type of virus that can change itself each time it is copied.
Options:

, « Polymorphic



- % Macro virus
5 % Irojan
4 % Cluster virus

s % Micro virus

Question Number : 70 Question Id : 3475354071 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 71 Question Id : 3475354072 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘What is the chemical name of baking soda?

Options:

| « Sodium hydrogen carbonate

- % Sodium chloride
% % Calcium oxide

, w Hydrochloric acid

= % Sodium hydroxide

Question Number : 71 Question Id : 3475354072 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 72 Question Id : 3475354073 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘What is the protein inside red blood cells that carries oxygen called?

Options:

, « Hemoglobin

- % DBone marrow
5 % Platelets
4 % Plasma

% White blood cells

Question Number : 72 Question Id : 3475354073 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 73 Question Id : 3475354074 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Intermolecular spaces are minimum in

Options:
1 « solid

- % liquid

% gas

4 % semi-solid

c % semi-liquid

Question Number : 73 Question Id : 3475354074 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
T 3 Nea we H 7AaH B £

Options:
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Question Number : 74 Question Id : 3475354075 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Which disease is caused by the lack of Vitamin B1 or thiamine in the body?

Options:
1 « Beri beri

5 % Scurvy

- » Xerophthalmia or Night Blindness



4 % Goitre

5 % Anaemia

Question Number : 74 Question Id : 3475354075 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 75 Question Id : 3475354076 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
What is the chemical formula of ethanol?
Options:

, « CH;O0H

wu EAS0L2TL0
. 5 €260,
o« CH.COC,H,

- % Ca(OH),

Question Number : 75 Question Id : 3475354076 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
SAAT I THA IR I FT 872

Options:
, » C2HsO0H



» w Ca50,.2H,0
- 3 €260,

- % Ca(OH),

Question Number : 76 Question Id : 3475354077 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who was the ruler of Rajnandgaon state at the time of establishing the C.P. Cotton Mill?

Options:
1 « Balramdas

> % Ramdas
3 % Ghasidas
4 % Prahladdas

% None of these

Question Number : 76 Question Id : 3475354077 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 77 Question Id : 3475354078 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 0
‘Who was the founder of Banar Sena in Bilaspur?

Options:
1 % Diwakar Karlikar

> « Basudev Devras

- % Kranti Kumar Bhartiya
4 = Gajadhar Sao

% None of these

Question Number : 77 Question Id : 3475354078 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
fremaq & a8 & FEE Hia 92

Options:
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Question Number : 78 Question Id : 3475354079 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Leader of Gatasilli Satyagrahi were:

Options:
. w Shri Meghawale
- % ShriJagtap

-  Shri Meghawale and Shri Jagtap

4 % None of these



= % Baman Rao Lakhe

Question Number : 78 Question Id : 3475354079 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
5T Boell ToU9E & adT o

Options:
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c % FHST TT o

Question Number : 79 Question Id : 3475354080 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

Where did the first Labour Movement started in Chattisgarh?
Options:

, » Raipur

-  Rajnand Gaon

o % Durg

4 % Raigarh

c % None of these

Question Number : 79 Question Id : 3475354080 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
Boargee mmmmﬁgmw

Options:
Id497

1. = =

o v SAAIGITS



Ew?ﬁ-

4 % 96

s x A W FY AL

Question Number : 80 Question Id : 3475354081 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
In Surat Congress 1907 who represented Chhattisgarh?

Options:
1 « Pt. Sunderlal Sharma

> % Pt. Ravi Shankar Shukla

- » Lochan Prasad Pandey
4 % ShriMeghawale

c % None of these

Question Number : 80 Question Id : 3475354081 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
WA FEE 1907 # Scardere & Safataea e forar ar?

Options:
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Question Number : 81 Question Id : 3475354082 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who was not related with Bilaspur as a freedom fighter?

Options:



1 # Thakur Chhedilal

- % Yadunandan Prasad Shivastava
% % Shri Chintamani Ottalwar

4 = ShriRajkishore Verma

5 « Shri Amarnath Tiwari

Question Number : 81 Question Id : 3475354082 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 82 Question Id : 3475354083 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
Main Leader or Hero of Raipur case was:

Options:

; % Sudir Mukherji

- % Shri Ranvir Shastri

- % ShriKranti Kumar Bhartiya

4 « Shri Paras Ram Soni

% None of these



Question Number : 82 Question Id : 3475354083 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
IO FH & T5F g0 o
Options:

1

5 % AT WER ATET

o x A PATAR SR

4 v ST 9" TH W=

s x A W FY AL

Question Number : 83 Question Id : 3475354084 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Which of the following ‘Garh’ was not a unit of Ratanpur State in the Kalchuri period?

Options:

, » Lafagarh

- % Sonakhan

- % Uproda

4  Rajnandgaon

% None of these

Question Number : 83 Question Id : 3475354084 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 84 Question Id : 3475354085 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Barnavapura Sanctuary is located in which district?

Options:

, % Raigarh

-~ % Korba
=z % Kanker
4 % DBastar

c « None of these

Question Number : 84 Question Id : 3475354085 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

TRAIORT vy FE 5o & 87
Options:
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4 % SFY

o T A

Question Number : 85 Question Id : 3475354086 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

Which of the following district has more production of limestone?
Options:

, w Bilaspur



o> & Durg

- = Raipur

4 % Mahasamund

5 « DBaloda Bazar

Question Number : 85 Question Id : 3475354086 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
fa=faf@a # & &5 B9 & =1 o 7 30T o 82

Options:
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Question Number : 86 Question Id : 3475354087 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Albaka hill is located in:
Options:

1 B Sukma

> % Narayanpur
= % Dantewada

4 % DBastar

=  Bijapur

Question Number : 86 Question Id : 3475354087 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Question Number : 87 Question Id : 3475354088 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
Extension of Red Loam soil in Chhattisgarh State is:

Options:
1 « Sukma — Dantewada

-~ % Kanker —Bhanupratappur
% Kondagaon — Kanker
4 B Narayanpur — Bhanupratappur

c % None of these

Question Number : 87 Question Id : 3475354088 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 88 Question Id : 3475354089 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
In which tehsil of Chhattisgarh Tel river flows?

Options:

, « Deobhog

~ % Nagari
- » Saraipali
, w Gariyaband

¢ % Mahasamund

Question Number : 88 Question Id : 3475354089 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 89 Question Id : 3475354090 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

‘Where is Indravati National Park?
Options:

1 « Dantewada Dist.

- % Bastar Dist.



- % Raipur Dist.

4 % Kanker Dist.

% None of these

Question Number : 89 Question Id : 3475354090 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 90 Question Id : 3475354091 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

‘Sadari” dialect is spoken in which district?
Options:

1 % Sukama

- « Jashpur
=z % Kawardha
4 % Mahasamund

5 # None of these

Question Number : 90 Question Id : 3475354091 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Fredr S, e & J 9e FJar 2?

Options:
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Question Number : 91 Question Id : 3475354092 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Which dance is performed by Muria tribe?

Options:
1 #% Karma

> « Mandari
z ® Sarhul
4 % Shaila

% None of these

Question Number : 91 Question Id : 3475354092 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 92 Question Id : 3475354093 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Where is the famous “Chakradhar Samaroh™ being organized?
Options:

, » Raipur

-~ % Bilaspur

-  Raigarh

4 # Dongargarh

c % None of these

Question Number : 92 Question Id : 3475354093 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 93 Question Id : 3475354094 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Which tribe has maximum population in Chhattisgarh?

Options:
1 % QOraon
- « Gond

= % Kanwar

4 R Halba



c % None of these

Question Number : 93 Question Id : 3475354094 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Question Number : 94 Question Id : 3475354095 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

‘What is traditional work of the Dhanwar tribe?
Options:

1 % Iron Craft

> % Wood Craft
= « Bamboo Craft
4 % Catechu making

c % None of these

Question Number : 94 Question Id : 3475354095 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 95 Question Id : 3475354096 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Who is not a bamboo utensil worker scheduled tribe?
Options:

1 % Kandra

- % Kamar
z % Dhanwar
4 « Kanwar

% None of these

Question Number : 95 Question Id : 3475354096 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 96 Question Id : 3475354097 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
When is “Bhojali” celebrated?

Options:



; % In Kamarchhat (Halshashthi)

5 R In Aathe (Janmashthami)

5 % Shardiya Navratri

» Kajaria Tij (Shravan Krishna Pakchh-3)

% None of these

Question Number : 96 Question Id : 3475354097 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 97 Question Id : 3475354098 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What is the “Raigarh Gharana™?

Options:

, % Classical Music style
» Katthak dance style
- » Odisidance style

, % Karma dance style

c % None of these



Question Number : 97 Question Id : 3475354098 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 98 Question Id : 3475354099 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘What is the story of the “Chandaini” song-dance?

Options:
1 % Dhola — Marao

- % Hira—Ranjha
= « Loirik — Chanda

4 % Nal-Damyanti

c % None of these

Question Number : 98 Question Id : 3475354099 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 99 Question Id : 3475354100 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

When is ‘Matar’ festival celebrated?
Options:

1 % Affer Holi

-  After Goverdhan Pooja

= % After Pola
4 % After Dashahara

5 % None of these

Question Number : 99 Question Id : 3475354100 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O

Options:
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Question Number : 100 Question Id : 3475354101 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
‘When is ‘Rathdooj” (Rathyatra) is celebrated?

Options:
, » Bhado Shukla Pakchh dwitiya



-~ % Kwar Shukla pakchh dwitiya

2 o Ashad Shukla pakchh dwitiya
4 B Kartik Shukla pakchh dwitya

c % None of these

Question Number : 100 Question Id : 3475354101 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 101 Question Id : 3475354102 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Smt. Mamata Chandrakar is famous for what?
Options:

1 % Classical music

-  Chhattisgarhi folk song

= # Classical dance

4 % Folk dance

c % None of these

Question Number : 101 Question Id : 3475354102 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 102 Question 1d : 3475354103 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘What is purpose of ‘Kumar-chhat’ (Halshashthi) vrat (Fast)?

Options:

, « Long life of offspring

» » Long life of husband
- w Long life of brother

4 % For wealth

% None of these

Question Number : 102 Question 1d : 3475354103 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 103 Question Id : 3475354104 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Who sings ‘Bansgeet’™?

Options:
1 « Raut

-~ % DBasdewa
=z % Bansod
» DBanjara

c % None of these

Question Number : 103 Question 1d : 3475354104 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 104 Question Id : 3475354105 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

‘Turturia’® is famous for what?
Options:

, w Shringi Rishi Asharam

> « Valmiki Ashram



= % Shavari Ashram
4 % Vashishth Ashram

5 % None of these

Question Number : 104 Question Id : 3475354105 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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Question Number : 105 Question Id : 3475354106 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Who is the author of Chhattisgarhi book ‘Danlila’?

Options:
, » Pt.Lochan Prasad Pandey

> « Pt Sunderlal Sharma

- % Pt Medani Prasad Pandey
4 % Pt Mukutdhar Pandey

% None of these

Question Number : 105 Question 1d : 3475354106 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 106 Question Id : 3475354107 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Which rank is awarded to Chhattisgarh in the nation under ‘Ease of doing Business’ in the year 2015-167

Options:

; w31

41'}1
3 th
l st

% None of these

Question Number : 106 Question 1d : 3475354107 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 107 Question Id : 3475354108 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

How much hectare additional irrigated area is extended under ‘Green Revolution Extension Yojana® in Chhattisgarh in the
period 2011-12 to 2015-16?

Options:
1 % 21470 Hectare

- % 6900 Hectare
= o 28370 Hectare
4 % 25370 Hectare

% None of these

Question Number : 107 Question 1d : 3475354108 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:
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Question Number : 108 Question Id : 3475354109 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What is the trend of production of Iron ore in Chhattisgarh during the period 2011-12 to 2015-167

Options:
, % Increasing

> w Decreasing

= % Constant



4 « Ermratic

% None of these

Question Number : 108 Question 1d : 3475354109 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 109 Question Id : 3475354110 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

Which district is not included as full Jaivic Cultivation District in Chhattisgarh State under Jaivic Cultivation Yojana?
Options:

, » Gariyabam

-  Rajnandgaon

z % Sukma
4 = Bijapur

5 % None of these

Question Number : 109 Question Id : 3475354110 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Options:
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Question Number : 110 Question Id : 3475354111 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
From which year ‘Prime Minister Crop Insurance Scheme’ is implemented in Chhattisgarh State?

Options:

1 % 2013-14
> % 2014-15
= % 2015-16

4 « 2016-17

c % None of these

Question Number : 110 Question Id : 3475354111 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

% 2013-14
. % 2014-15
- % 2015-16

4 v 2016-17

.

Question Number : 111 Question Id : 3475354112 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What was target to establish Agriculture Service Center under Chhattisgarh State Yojana in the vear 2016-172



Options:
;% 200

2 % 160
4 ¢ 150

% None of these

Question Number : 111 Question Id : 3475354112 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

T HTIE T=T & WAAT & IHeaeid ay 2016-17 & Faa $R¥Er &g wofia == & @87 ar?
Options:

% 200
. % 175
- % 160

4 v 150

. S A

Question Number : 112 Question 1d : 3475354113 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Which sector is not included in secondary sector of Chhattisgarh economy?

Options:
Mining and Quarry

1. %
-~ % Manufacturing
- » Electricity, Water supply & Gas

4 % Construction

% None of these

Question Number : 112 Question Id : 3475354113 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
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Question Number : 113 Question Id : 3475354114 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What share of tax-revenue receipt in total revenue receipts is estimated in 2016-17 budget of Chhattisgarh State?

Options:

| % 65.5 percent
50.6 percent
5  00.1 percent

67.2 percent

c % None of these

Question Number : 113 Question Id : 3475354114 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Fr adfr &7

Options:

. % 65.5 gfgera

-« 66.1 gfaerg

4 % 67.2 gfaeEg
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Question Number : 114 Question Id : 3475354115 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
How many times “Public Distribution System™ of Chhattisgarh is awarded National Prize?

Options:
1 # 5

2_235

% None of these

Question Number : 114 Question Id : 3475354115 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

1 # 5
o W 6
3¢ 7

4 % 8

o« T A B G

Question Number : 115 Question Id : 3475354116 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
What is correct?

(i)
(id
(iii)
(iv)
®)

(vi)

Options:

President presides over the meeting of Nagar Panchayat.

In the absence of President, vice president will preside over the meeting.

In the absence of president and vice president a elected councilor choosed by the elected councilors will preside
over the meeting.

In the absence of president and vice president, a councilor nominated by the collector will preside over the
meeting.

The quorum of meeting is 1/3.

In 1/3 quorum there must be one female, one SCST and one OBC councilor.
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% None of these

Question Number : 115 Question 1d : 3475354116 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

s (), (), (i), (vi)
o w (0, (i), (v), )
2w (), (i) (), (vi)
4 o (0, (i), (i), (v)
R

Question Number : 116 Question Id : 3475354117 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
How a Sarpanch may be removed?

(1) By no-confidence motion

(i) By Recall

(iii) ~ When he doesn’t call the meeting of Gram Panchayat

(iv)  When Quorum is not present three times in the meeting of Gram Panchayat
(v)  When quorum is not present in three consecutive meetings of Gram Sabha
(vi)  When he is maximum opposed in the meetings of Gram Sabha

Options:



| w (). ), Gid)

(D), (ii). (iv)

[~

@ (. (v

M

s (i), (), (vi)

e

% All of the above

i

Question Number : 116 Question Id : 3475354117 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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(i) FrRIw == =R

(i) IeaTaad @[

(i) ST 9 IMH T=ad HT I5F F AT

(iv) 519 I =g FT I F I a7 TOoTfa T &
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(vi) I ImHETST Fr SR 7 3T 34f0F By @

Options:

s (), (i), (Gl

o s (i), (i), (iv)
2 v (), (i), (V)

o (i), (v), (vi)
e

Question Number : 117 Question Id : 3475354118 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0



‘What is correct about zila panchayat?

(1) Chairman of standing committee become members of General Administration Committee
(ii) The members of zila panchayat elect the members of General Administration Committee
(iii) The vice president of zila panchayat becomes the chariman of education committee

(iv) The members of education committee are appointed by the president of zila panchayat

(v) One female member is nominated in general administration committee

(vi) In education committee one SC or ST category member is essential

Options:

e @ 0v). (V)

> o (1) (111)- (vi)

o

o #® (11) (i‘ifj: {vi)
4w (). (i, (¥)

5 % None of these

Question Number : 117 Question Id : 3475354118 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0
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Options:

s (), (@), )

2 o (), (i), (vi)
2w (i), V), (vi)
4w (i), (i), )
o T A A



Question Number : 118 Question Id : 3475354119 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘What is correct about municipal council?

(i)  President can be recalled.

(1)  President cant be recalled.

(iii)  3/4 members can recall the President.

(iv)  To initiate the process of recall the signature of 3/4 members of elected concillors is essential.
(v)  To initiate the process of recall the signature of 2/3 members of elected councilor is essential.
(vi) The voters of municipal area can recall the president by 2/3 majority.
(vii) The voters of municipal area can recall the president by majority.

Options:

5 s (i), (v). (vii)
5 & (iD, (v). (vi)

4 (). (V). (vid)

o,

c % None of these

Question Number : 118 Question Id : 3475354119 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

s (), (i), (vi)

o (i), (v), (vii
(i), (iv), (vi)

4 v (D), (iv), (vii)
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Question Number : 119 Question Id : 3475354120 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
In Panchayat election the security deposit amount will be returned to the candidate if:

(1) The name of the candidate is not shown in the list of contesting election.
(ii)  The candidate dies before the commencement of the poll

(iii) He gets 1/6 votes of total polled

(iv)  He claims for return before nine months of election

Options:
pox (@)

- w (1. (1)

5 o (). (i), (iii)
4w (D (D). (i), (v)

c % None of these

Question Number : 119 Question Id : 3475354120 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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(i) 3" AH AT o5 T FEANAT T H A ST 7 @
(i) afg Aager # & wemefl # Jog & =

(i) o7& 37 For AdEH & 1/6 AT 9o &

(iv) ofE 3 Ior9 & &t A1g & qF A o R ar

Options:

o= ()

5 #® (i), (ii)
5 o (1), (i), (iii)
4 w (), (i), (iii), (iv)
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Question Number : 120 Question Id : 3475354121 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Where was the first livelihood college started in Chhattisgarh?

Options:
, » Kondagaon

» « Dantewada
- » Jagadalpur

4 ® Sarguja

5 # None of these

Question Number : 120 Question Id ;: 3475354121 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O
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Question Number : 121 Question Id : 3475354122 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

‘Which city is proposed to be developed as “Super Smart City” in Chhattisgarh State?
Options:

, % New Raipur

-~ % Raipur



- » Bilaspur

4 « Bhilai

% None of these

Question Number : 121 Question Id : 3475354122 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 122 Question Id ;: 3475354123 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0
‘Which of the following is not a coalfield?

Options:
, % Lakhanpur

- « Boria Tibbu
= % Panchbahini

c % None of these

Question Number : 122 Question Id : 3475354123 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 123 Question Id : 3475354124 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
In which of the following district diamond is found in Chhattisgarh State?

Options:
1 % DBaloda Bazar

- % Dantewada

-  Gariyaband

4 % Mahasmund

% None of these

Question Number : 123 Question Id : 3475354124 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 124 Question Id : 3475354125 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
‘Which colour of ration card is given to disabled person in Chhattisgarh State?

Options:
> % Blue
=z % Yellow

4 « QGreen

c % None of these

Question Number : 124 Question Id : 3475354125 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Question Number : 125 Question 1d : 3475354126 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Labbandi Research Farim was established in:
Options:

1 ® 1960

- # 2001

= % 1980

4 % 2010



c « None of these

Question Number : 125 Question Id : 3475354126 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

aTeuEr Y@ w1 (Labbandi Research Farm) & Temaar & E‘é"

Options:

. % 1960
- % 2001
- % 1980

4 % 2010

o B

Question Number : 126 Question Id : 3475354127 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

The price of 4 sarees and 6 shirts is T 4800. With the same amount of money. one can buy 2 sarees and 9 shirts. What is the
price of each saree?

Options:
1 % T450

5 % T400
s = T420
4 & T600

c % T720

Question Number : 126 Question 1d : 3475354127 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

4 mifEat 3kt 6 ot # Hew T 4800 §I 3T & uSRITY § FF w@fET 2 WRTT wF 9 0 wie T g
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Options:

% T 450



, % T 400
2w T 420
. v % 600

c % T 720

Question Number : 127 Question 1d : 3475354128 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

The sum of the squares of two consecutive even numbers is 340. What is the difference between the cubes of these two
consecutive even numbers?

Options:
1« 1016

> % 1028

Question Number : 127 Question Id : 3475354128 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
T FHETT TH TEWHT & Fo0 7 AT 340 2| 39 aF FART TH TEIAT & g7 & §= F7 Ha gem:
Options:

. v 1016

, % 1028
s % 932
. = 1660

= % 1280

Question Number : 128 Question 1d : 3475354129 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

With a 20% drop in the price of apples, Taufiq can buy 5 more apples for ¥ 100. What was the price of one apple before the
prices dropped?

Options:



s % T4.00
4 % T5.50

c % <420

Question Number : 128 Question 1d : 3475354129 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
et T FrAT H 20% FAT A= G, dlFE T 100 H 5 A 70 TS FhdT §1 57 HAAT & T8 TF dF
#r FrEa Gaar o

Options:

| v % 5.00
. T 450
2 % T 4.00
. % T 550

= % T 4.20

Question Number : 129 Question Id : 3475354130 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
The product of the HCF and LCM of two numbers is 270. If one of the numbers is 18, what is the other number?

Options:
1 # 18

c 16

Question Number : 129 Question Id : 3475354130 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
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Options:

1 % 18
> % 12
z « 15
4 % 21

c # 16

Question Number : 130 Question Id : 3475354131 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

The ratio of the revenues of two business firms, A and B, is 4 : 7. The revenue of firm A increased by 50% and that of firm
B decreased by 25%. If the difference between the new revenues of the two firms is ¥ 4500, then what was the original
revenue of firm B?

Options:
. % T49000

> % T 28000
= « T42000
4 % T31500

= % T24000

Question Number : 130 Question Id : 3475354131 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

2 =aTaEae BAT A AT B, B 31T F HGAT 4 1 7 ¥ FH A F 3T 50% T AT g 3T BH B Fr 317
25% ©e S g1 IfE A AT S A% 37 F T 4500 F HAR g, O B F Fq@ 3w F=m 42

Options:

. % T 49000
. % T 28000
s « T 42000

. % T 31500



= = ¥ 24000

Question Number : 131 Question Id : 3475354132 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

The average weight of a certain number of boys of class VII is 45 kg. When 5 more boys join the group, the average weight
of all the boys becomes 44 kg. If the average weight of the 5 boys who later joined the group is 40, how many boys were
there in the group originally?

Options:
1 ® 22

o W 18

3 o 20

Question Number : 131 Question Id : 3475354132 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

TS FET & FO TS B ARES TEA F IAF 45 Faw ¥ 5w FEg A 99 AR wsF 5 I & ar @
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Options:

1 & 22
> % 18
z « 20
4 % 2B

c # 15

Question Number : 132 Question Id : 3475354133 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Talat accidentally dropped a crate of eggs, which had 30 raw eggs. Which of the following CANNOT be the ratio of broken
eggs to unbroken eggs?

Options:

1 ® ;



4 ¢ 3.4

Question Number : 132 Question 1d : 3475354133 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
el & guEATer 37 F AR (FowH 30 Fer 312 §) BR R 22 ge I @ R g et & e
eafaf@a & & Far 741 & Toar 87

Options:

1 2 T2
o %8 5]
=% 253
4 3. 4
c % 41

Question Number : 133 Question Id : 3475354134 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

Prabhat and Sumeet started a partnership firm with < 1,08.000 as the combined capital. Following their capital contribution,
they decided to share profits in the ratio of 5 : 4 respectively. After 6 months Nishant joined their firm by contributing ¥ 36.000.
What will be Nishant’s share of profit, if the firm earned T 21,000 as profit in the first year and the profits were to be distributed
in the ratio of period and amount of capital invested by each partner?

Options:
. % 36,000

5> 3,000
5 % 7,000
4 % 6.300

= » T7,200

Question Number : 133 Question Id : 3475354134 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0



T X gAT 7 T 1,08,000 F FIFT T & TF AN BH YE H| AT TS AFEH F FFERX @i
T H FH 5:4 F HeT W WG FA 1 eivor far) 6 7 a1g fena T 36,000 T IeTE
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Options:

, = ¥ 6,000
, » ¥ 3,000
.u % 7,000

, = % 6,300

c » T 7,200

Question Number : 134 Question Id : 3475354135 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

A tailor bought a piece of cloth for T 400, and stitching materials, such as buttons and thread for ¥ 80. At what price should
he sell the dress so made, so that he makes 25% profit (on cost price) in the transaction?

Options:
1 = ??2

> % T420
s % T480
4 ¢ T600

= % T3560

Question Number : 134 Question Id : 3475354135 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

TeF TSif o 9 o Tk U T 400 # @ier; v oe @ #9fg g el 39 s va 9er € 80 # widT
$H JeN 4 9RU (39) 38 fFE g5g W a9 e,  ifF 35 o9da J 38 (I §59 W) 25%
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Options:

L % T 720

. » T 420



- % T 480
. v T 600

= % ¥ 560

Question Number : 135 Question Id : 3475354136 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

JKIM : NOPQ : : DEFG : ?
Options:

1.+ HIK

> % JKLM

= % LMNO

4 % LM

QRST

Question Number : 135 Question Id : 3475354136 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

37 Fed &1 99 ®{ A I 98 ¥ 38 TN #6919 ¢, 9% ¥R gET 98 98d 98 § FefUd gl

JKLM : NOPQ : : DEFG : ?
Options:

.« HIJK

> % JKLM

- % LMNO

4 % IJLM

= = QRST

Question Number : 136 Question Id : 3475354137 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0



Select the option that is related to the third term in the same way as the second term is related to the first term.
16:36::64:7
Options:
1. 06
-~ % 81
= &% 121

4 v 144

C % 80

Question Number : 136 Question Id : 3475354137 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

37 fawew & 999 Y S I 98 ¥ 3 THR FElod § O IR g 98 TEd 98 ¥ FEiod gl

e 30 s 68 1 2
Options:

1 ® 96

> ® 81

= % 121

4 v 144

c #® 80

Question Number : 137 Question Id : 3475354138 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Select the option that completes the series correctly.

1,4,9,16,25, 49
Options:
1 #® 27

- ® 30

3 o 36



4 ® 24

c & 42

Question Number : 137 Question Id : 3475354138 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

37 e 1 99w HifST F Ao F T TR F T W 8

1, 4,9, 16, 25, _ , 49
Options:

1 & 27
> % 30
3 « 36
4 % 24

c #® 42

Question Number : 138 Question Id : 3475354139 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
In a code language:

‘A + B’ means ‘A is mother of B’.
‘A~ B’ means ‘A is father of B,

‘A * B” means ‘A is husband of B” and
‘A — B’ means ‘A is daughter of B’

Based on the codes given above, select the option that correctly indicates ‘R is P’s mother’.
Options:

, ® Q+IXR+P

> % PHIxK+R

s« P-K+8S—-R

L % Q-TXK+P

=%« P-K+S+R



Question Number : 138 Question Id : 3475354139 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

TH FT A H:

‘A + B @ aread g & ‘A, B #r AT E
‘A+ B @ aed ¢ & A B @ Rar
‘Ax B @Ay g & A Barafg g sk
‘A-B FTacad g & A B Fradr g

FR T T FT F 3R R, 37 fFFeT 7 97 T A TT R I s war & F R, P H A &1
Options:

 # Q+JxR=+P
, % P+JxK=+R
¢ P-K+S-R
L% Q-JxK+P

-« P-K+S+R

Question Number : 139 Question Id : 3475354140 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Five friends M, N, O, P and Q played a computer game one after the other. The one who played the game first, gave it to
‘N'. ‘P’ played the game immediately after “N’ but immediately before ‘M’. ‘O’ was the last boy to play the game. Who
was the one to play the game first?

Options:
1 P

oo® M

3 v Q

Question Number : 139 Question Id : 3475354140 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

9 aFar M, N, O, P 3R Q & T& & 918 U& F°4ed W O Woll| T §9d g oo Wofl, 384 39
‘N & f&@m P a N & gia 718 afead ‘M F &% 9ge @ Tl ‘O B Wele are HTaH wsen ol
TEE Tger WA TeAst aTel Hied AT?

Options:



5_230

Question Number : 140 Question 1d : 3475354141 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Each of the options below has three statements. You need to take these statements to be true even if they seem at variance
with truth or facts. Select the option in which the third statement is implied by the first two statements.

Options:
, = Allapples are sweet. All apples are grapes. So, all grapes are sweet.

-  All bees are fleas. All fleas are white. So, all bees are white.
- = Allschools are clinics. Some clinics are shops. So, all schools are shops.
4 % All doctors are wise. Manu is not a doctor. So. Manu is not wise.

= u All girls are studious. Pavan is a boy. So, Pavan is not studious.

Question Number : 140 Question Id : 3475354141 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O

A T 9T 9% RBeeT F 919 FUT £ T FYST N9 T Al & HoF & F TeF I SiEgfasar o
e 9 819 &1l 35 ey &1 9u7 fifew &Ed 9 & F9aT F 3uR W 38w e &fga 27

Options:

~ Tl B9 A €1 Tt ¥9 3w 21 safow, @ef R #ie B

., TN AywAfreE P ¥ et Reg @b 81 swfo, weh AywAfdeEr @b g

- Tl Tt FAAlloId 8| HO Follleieh Gl 8| FHOIT, T THol gl 2|

e Tl STFcY IGATH §| A Tk Sl ¢! ¢ SHIAT, A FRGAH AL g



. T TSTRAT IeTTSANT & T TH A5 gl THOW, VA TSNS ALl g

Question Number : 141 Question Id : 3475354142 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Apara is Pari’s sister. Pari’s mother, Chandrima. has a brother, Shashi and a sister. Garima. Garima’s husband Manish has a
daughter, Reema. How is Reema related to Shashi?

Options:
1 % Cousin

> o Niece
3 % Sister
g4 #® Aunt

c % Daughter

Question Number : 141 Question Id : 3475354142 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

I, IO HT FgT g1 G Y AT, GSgAT 7 U 912, ofYy 3K sga, afver §1 i F ofy 7w fr v
o, T 21 O, ofYr ¥ oy 9o @efag 27

Options:

| x TEY A HAAY wEH

o o ST T STl
3_&333?"

S.Qﬁ

Question Number : 142 Question Id : 3475354143 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Select the Venn diagram that represents the relationship among categories given below. most appropriately.

Animals, Deer, Tigers

Options:



Question Number : 142 Question Id : 3475354143 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

3F 37 NG F 94 HIfC S A & TS AT % & FEY F FaAGS 39GFT T § HAASed F g

SR, Bfee,
Options:

OO
o O
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Question Number : 143 Question Id : 3475354144 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Read the information below and select the option that is definitely correct.

In a running race, Yash ran faster than Virat; Mahi ran faster than Dave but not as fast as Yash; Virat ran faster than Dave
but not as fast as Mahi.

Who won the race?
Options:
1 « Yash

o> R Mahi
3 % Virat
4 % Dave

c % Cannot be determined

Question Number : 143 Question Id : 3475354144 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

A= & 7% Sy Fr ufer i BRET F7 9 g Reew w71 maa fifEw

iz Ty e e e Gt T e s o ds e T a T R e O
FH o= afsT

Ig diz # fFms Shar

Options:



L @ T
> % ATl

s % faQrE

4% S

.« forenfE @ R ST weRan

Question Number : 144 Question Id : 3475354145 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: O
Select the word that CANNOT be created using the letters of the word given below, subject to the condition that the letters
of the given word can be used only as many times as they appear in the given word.

INSURMOUNTABLE
Options:

, % MOUNTAIN
» % STABLE

- % SURNAME

4 « BETTER

= % BLISTER

Question Number : 144 Question Id : 3475354145 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

3F eC T IO ST o A= BT 7T eedr Fr ITGET FF IATT FAer S HhaT g, o Ug ¢ o Br
AT ST F HERT FT TIT FTA 34T & IR AT I TFaT & fogeT §% ¥ RU v o & IutEyd &
INSURMOUNTABLE

Options:

1 = MOUNTAIN

> ® STABLE

= # SURNAME

4 « BETTER



- » BLISTER

Question Number : 145 Question Id : 3475354146 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
Select the Venn diagram that represents the relationship among categories given below, most appropriately.

Son. Brother, Husband
Options:

= o
.r"/ /.'- = Ty
Fi -"i_'_’ i i l"‘.
{ o Ilf ".]l .\'ul L1
L L )]
% "x_ s e /
o s o~
T W —
( ;'._...',.H |
.-". 1
4. % —
o ™
o/ %
'I. r"'-_ b -i_"- .-.'u
|I I'\._ "I A _'! I|
| e |
-‘.\ A
. % il

Question Number : 145 Question Id : 3475354146 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

3 39 N FT T4 H{ 7 A & 72 A0 F 6= g9y 7 ge 30T 77 ¥ goRmtes e g

Options:
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Question Number : 146 Question Id : 3475354147 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

If brass is called ivory; ivory is called silver; silver is called gold; and gold is called iron, which one of these would be a
banned animal product?

Options:
1 % Drass

# Gold

P2

o Silver

1)

% Copper

c % Iron

Question Number : 146 Question Id : 3475354147 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0



Ife Fraer Fr TAST FaT AT 8 ITSET T TIET el AT g TAT F BT FEr FaT 2 AT T FroAEr
FET ST ¢, a1 $9H @ FieA-ar Flaatad T 355 Frem?

Options:

1.%.\%&'?'?
g_ém
S.Jﬁ

5 % iEm

Question Number : 147 Question 1d : 3475354148 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

Ruby went to the market in her friend’s car. They went 4 km straight towards East. Then, turning right, they went for 2 km.
Then turning right again. Ruby’s friend drove 4 km straight to reach the market. From there, Ruby decided to walk back
home. What is the shortest possible distance from the market to Ruby’s home?

Options:
1 B 1 km

> o 2km
o W 3.5km
4 ® 4 km

c ® 8 km

Question Number : 147 Question Id : 3475354148 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O

T 3 ST FT FR F AR TR T W 9F Few Fr 3% 4 B 99 59F 9, e gee ¥ 2 G
?I?fl314'35317:':3?-!':ar%ﬁ‘iﬂ?igmﬁﬁ'ﬁqlwf—raldliﬁqgﬂﬂ%%ﬁﬁ‘ﬁ'4ﬁﬁﬁmmlaﬁ
¥ wE A Yoo el T AT9H A @ AU R a9 ¥ w6 F N 9% #7599 wF THET gl #4787

Options:

1@1%

> o 2 TR

- % 3.5 BT



4 ® 4%

c #® Sm

Question Id : 3475354149 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (148 to 150)
Read the given data carefully and answer the questions that follow.

The Ministry of Sports hired 800 sports coaches to train budding
sportspersons. Exactly 1/4th of the coaches specialised in athletics and
field events. Of the remaining coaches. 1/3rd specialised in Hockey.
Football and Basketball; 1/5th specialised in water sports; 1/5th
specialised in Indian games. such as Kabaddi. Kho-Kho and Wrestling.
The remaining 60 coaches specialised in rare sports like Rugby. Baseball.
and Skiing etc. Of the athletic coaches, 1/4th specialised in Weightlifting.

Sub questions

Question Number : 148 Question Id : 3475354150 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
How many coaches specialised in Weightlifting?

Options:
1. = 30

o W 25

Question Number : 149 Question Id : 3475354151 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
What percent of the all the coaches specialised in
Hockey. Football and Basketball put together?

Options:
1 ® 30%

> % 20%



2 o 25%
4 % 40%

c % 16.66%

Question Number : 150 Question Id : 3475354152 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0
How many more coaches specialised in Indian
games like Kabaddi than the coaches who
specialised in rare games?

Options:
1. = 50

2 o 60
= #% 120
4 ® &0

c 40

Question Id : 3475354149 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (148 to 150)

ffw 71T Rt 1 FEuEEE e fifET R 3EE 98 T
AT AT F 3eal AT

T 76T o Aaifed [@enfear & af@g == & v 800 @+
SRreTsr! 1 forgea fBRaT| o SineTs T TEar # S 1/4 7T
Tyl 3T JSET Qe & RBEwa g1 9T fr o e 7
1/3 ST gThT, Feater HIY sTEreater & faws & 1/56 07 o
HrET3it & VS 8 1/5 7T w5, WA AR Hedr S aRd
Qe & Forws 1 9w 60 ufdeTs e, awei, i e AW
Reer Wit & R ¥ weRww & sReE & o GEar @
1/4 &7 AReAeT & 9w 2

Sub questions

Question Number : 148 Question Id : 3475354150 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: O



SRS & Frows gfdeTs o £7
Options:

% 30
o @ 125
- % 100
4 v 90

c = BD

Question Number : 149 Question Id : 3475354151 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

T 9fEeTeht S HEIT FT THT T T g
Sfarera #19T glehr, Bearel 3 aTEehcard 3
et 7 o

Options:

| % 30%

, % 20%
5« 25%
L = 40%

= = 16.66%

Question Number : 150 Question Id : 3475354152 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 0

faver @eft & faerws gfdere $r geer
FISST JAW AT Fer & v qfAeTw
= gET Shaer e g7

Options:

1 = 50

. % 120



g a0

c #® 40



